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loneg ansieer

( 4)

) Quesiton Numbers 16 10 18 are’

(1
Arrstencr

type questions of 5 marks each

these i abowut 70 wores each.

: e ooner. ntertal
(t11) There is no over all chowe. However,

' stper [ype
choice is qwen wm all long answer 1}

- . have o
questions of 5 marks each. You hat

§ 4 o . ‘}
attempt only one of the given choice in SuUch

questions.

1. (i) Mo 3 & Frm AgEe fgg @ A= J99E
7 1

(D) ©A1E+

Graphite i1s a good conductor of electricity
due to the presence of -

(A)  Lone pair of electron
{B)  Free valence electron

(C) Cations
(D] Anions
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{ O
(“] i) T]TI:"P 30 | FT qr=17n ¢
o o M

(A) S50 M (13) o

i A Az
C) 5 M (D) 294

Molarity of 900 gm of water is

v (A) 30 M (B) 55.5M

(C) 5 M (D) None of these

(i) A% FHHT 2902 A 2

A} AGY = nE“F
(B) AG nRTan

( 0.059] i-"l”
- ' A EU.-m’f — Inp.
‘ , cell " ll ‘,”.'. - |

(D) I & § F1F 58
Nernst equation is shown by expression -
(A AG® = _ng“F

(B) AG - -nRTInkK

3 0.05
" IM"']

(D] None of the above
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PTO
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>y T sfafran & e

(v) Mg/ U;J" IESh
A) e & =18 Mg
(B) 418 & &Y # Cu
(€] Cu TF AFIETT FHH 7
(D) i d # AL CG|
For the given cell reaction .

Mg /Mg’ ||Cu” [Cu :

(AN~ Mg as Cathode

; ®
BN Cuas Cathode pew E8Inro

S

(C) Cu is oxidizing agent
(D) None of the above
(v) uffedee FheEm F St & dve
(A) FA F2a qgF B B
B) FAl 7% IEviie & 2
(C) FA qfraida & R
(D) 3ITTH & 7 3 58
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'
O

(vi)

(7) 2029/ (Set : D)

During  decomposition ol an activited

complex

A LEneray s alwiavs released
(B)  Encrgy s alwavs absorbed
(€A~ Energy does not change

(D) None of the above

e o A Mo Fa7 9 2 7 1
(A) Foafes (B) =
(c;wﬁiﬁm_. (D) wfeam sfeme
Which one of the following has minimum
gold number ?

(A) Gelaun (B) Starch

(C) Gum arabic (D) Sodium oleate
=1 f&a @t § Al 78 2 ? 1
(A)  FEEE (B) #T3H

(C) Grzagy (D) ey

2029/ (Set : D) & % ¢
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rals « not
n which of the following it rals Al1s n

(8)

present fi

(A) Crvolite (B) Mica

(C) Fledspar (D} Fluorspar

(viii) Offes a1 &1 TUPAC M B i
(A) e (B) 2-A=rEE
(€) FNTH HW (D) PEAEE 7=

IUPAC name of Acetic acid i1s :
(A) ML[h&I‘IEl% }F"“* 2- Pentanonce

(C}y  Ethanoic acid (D) Methanoic acid
(ix) T8 Aed-FEid § C-0 &9 9949 ¢ 7 1

(A]  Mn(CO),. (B) Cr(CO),
(C)  V(CO), (D) Fe(CO)s

Which metal carbonyl has the strongest

C-0O bond ?
(A} Mn(CO); B) Cr(CO),
(C)  V(CO), (1 Fe(CO),

2029/ (Set : D)
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(x) f= d 49 afas s B 7 .

(A) AT depma (B) ARl

(C) AT (D) m FATHIA

Which of the tollowing is most acidic 2

(A) Benzyl alcohol (B)  Cyclohexanol

(C)~ Phenol (D)  m-chlorophenol
(xi) U Ga &7 -BEGAT H 99 F AHA £ 0

(A) #ES A (B) Uehd @

H3tH ‘ NED _
©) o SRR, e

A strong basc can abstract an ¢-hvdrogen

D from :
(A) Kectone (B) Alkane
) Alkene (¥ Amine

lxlijﬁqﬂﬁ?ﬂmﬂ%%ﬂmﬁm%? {
(A]  THIEERH (B) Hgers
(C) TR (D) TEHHA
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Which of the following 1s stored 1 Liver ol

animals ?

(A)  Amylose (B~ Cellulose

(C) Amylopecun (D) Glveogen

fmﬁrfaamﬁmﬁzﬁnm iy w4 g 2 2

Why does the conductivity of a solution decreasc

with dilution ?

3. FfEweh ate 7 A1 B 7 e ey A 2

What are lyophobic rnl]mdq ? Give one example.

?l%m
4 ﬁwwwnﬁmﬁ’mﬁ’ l 2

Write short note on calcinations.
5. M= % IUPAC 9m faflm - 2
(i) [Co(NH,), |Cl,
(1) K;|Fe(C,0, )y |
Write TUPAC names of following
I‘lJ [C.O‘quq 'f.'J Ic'lq
[H] K;IFE‘C‘_}O_’;)W]
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6 Teerzzrimrariar afwfEsr #m B 7 -
What 1s dehydrohalogenation reaction 2
7. FAA H C-X g & 9FE w1 AT $iian 2
[iscuss the nature of C-X bond in halogens
B AT TRIEAeE T # R \fed aran #fan 2
¢
Explain the term addition polymerization with

an example.

%chﬁmi?mﬂﬁqﬁw

AH FAEn o .
ew Plnro.

Why vitamin A and C are essential to us 2 Name

one mportan! source of each

10. TRITRIER T R 7 g% mmv A 2

What arc antioxidants ? Give one example.

u/faﬁ;«fmw?:?m—f 9 1 A FHifm

What 1s point defect 2 Discuss Schottky defecr

2029/ (Set : D) PTO
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e - A !]"m“-]‘ii -{
12, TEHT A 2 TgfEu fiF g8 6 A7)

/ ' | wsire ? Show that it 1s &
What is osmotic pressurc : sSh

colligative property.
ls.mwﬂaﬁﬁﬁaﬁmﬂ%ﬂm
| Ilﬁxlt)“siklw-ﬂfﬂmﬂaﬂﬂﬂiﬂbm

A B TEHT 3 4N A # fae @wg w7 3

A 1st order reaction has k= 1.15x10 3s ! How

long will 5 gm of this reactant take to reduce to

}hy }llwfﬂ
14, 7, quﬁvﬁ?ﬁmm??mm@

TR A ' 3

What are primary, secondary and tertiarv

- " = ——.Jr'

alcohols ? M sy

My oK _n) 5
C-Z 5"_-1,/'( / " ﬁ..‘-l -Z*s-"‘i?‘
ZF 4 AIC C
15:?!3‘;3!;‘7% m?‘éenw%"ﬁ?%ﬁnqﬁhﬁw ale

3 gm?

3

scuss the deacuvating and m-directing nature

of nitro group.
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6. (] HNO, F FTEA A T4 wF @ JTETT

) 9
iﬂl@”,l
is

Draw the structure of HNO4 and Wwritte

two LUSCS.

HF,ma‘ﬂaﬁ&nwamﬂuﬁ%?m
Fifara) 2

HF is a weaker acid than HI Explain.

M3 ﬂ@i%* 0
OR
(a) XeF, # §7&@N il A HIC) 3
| Discuss the shape and structure of XeF, .
(b) & W7 %I F B 7 2

What s inert pair effect ?
17, ) 9 % gagias = fefam 3
(i) Co* (27) (i) Ce* (38) (iii) Lu="(71)
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ation of
: - confrguaratic
'Write the clectromce corlig
Write the ¢

‘ ) Ce ™ (58) (in) Lu” " (71)
(i) Co="(27) () Ce " (58) (m)

O
ame F0 & cue e A famaa o

o
41 B ot ?

(b)

t : slable 1n
Explain why  Cu won 18 not  stabl

aqueous solution.

HYq[

OR
ReEw¥=Plnro,

B CrOr ®HEN e Kkcro. 3 g
Juan ‘f]fi]'m

3

Write the Structure of Cry05 . Give two

uses of K-z('r.,o.; _

b AT e 7 frupf ferfeg,

Write noge O nterst g Compounds
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18, 1) M7 FA T )
) CH.COOH v CHn ~CH
(1)  CH,COOI »CH; - CH, - OH
(i) C,H-COOH »Co,H, — Br COOH

How will you convert ?
(1) CH,COOH »CH, - CH,
(1) CH,COOH — »CH4 -CH, - OH

(i) CuH5COOH ——>C,Hs - Br - COOH

fEwss _}lf’ﬁ
(b) RFEfFdEaT F7r & ? = |@ed q9HET 2

What is decarboxylation ? Explain with an

example.
Y4l
OR
() fa= wfefEmst f1 g9 S 3
dil 11504 =
) CH=CH + H O 1' i
Pt g,

N ™y
2029/ (Set : D) P. 1.9
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(n) CH3CHO + HCN y ?
(iii) HCHO + NaOH ——» ?

Compilcte the following reactions .

()  CH=CH+ H,0- dil H3S04
HgSO s 333K

» 7

() CH,CHO + HCN — » 2
(i) HCHO + NaOH — ., -

tb) [37 & rR-coon ey 38 ¥ Fi9 7

‘i, mnn FOR BIEHY
() g

How will yoy Prepare R COON from 2

(1) Aleohol

i Nitrile
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